EaLAE HAS T8, 33
AE[OIA olHIA
MYH/NE OIUIII

bl

=Zeix
£S5

© HEINRICH KIPP WERK GmbH & Co. KG

LEQ} FI12E LHEI} 9L

oY
HE &Y. o ) i
QHA ZHXE &M EoZ Qs HZ Qx| HEIE wK|st7| 2UsH A
SELCH
o2 S0 7|H|, &x|, 717 L E4 x2F M=o| Zo| U 0| &2 EE
Izl =Zo| o|ofl s EFLICH.
MM EEE £52Z Z0{0iPt C}IE EHZF X2 0|5 E £ U&LICH
ZAIZH 284 9l EHZ Elo| uf ﬁEEo'% 8 X|5t7| QsiME CH =&
DEE AL&5HoF gLct.

EorE Z &35t

MEE MZE WRAG OIS 2771 71 2 88
% 2 Ol
T AAI=|L|EI--

O=| EI.OFOI_|- QI:E A'.

THE:

2B HT:

LIALE gE2 D &Z
A= AT 1.4310.

El
—

Ll

HAf

AE|QIEIA A T A2
LIAF &£21E 1.4305.
Ha ‘.ﬂ 238t 1.4034.

lo| B3tE|X| of& 1.4305.

EM OIF2:
2B HT:
LIAL 2|2, 4
43t ®a2l, oot

AHE|Q1E
LIAF &2

|E [>
EH [>
ra

M2
£H0|M & K0665

o}

HHF
=

Z A RAL3020.

www.kipp.com - info@kipp.com

1/4



= AEI A b S (=) Ool—= AEIl S S
ZalAEl A S 8, A3 LEYIIRE HEI Y= AH B2
¢E1I°._|E1I¢ oA SN
=M
Q) p2
I
| ;
y SWi1
3
— Sz
A
- 3 '
]
: L
W
-0,02
D-o,o4 I
D1
ZS 29
=2Hs E  2XdME A FEH TEE MA D D1 D2 L L1L2L3 2E SW1SW2 Fx A[EF Ebd
2l g7 78 = 23 30° Bt F=2
S F1 F2
F N 2N
K0338.4903 D AEl - 4st ZA3[M RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 45 10
K0338.4004 D AE - ast Z3|M RAL 7021 4 M8x1 1838515613 4 10 13 1 6 12
K0338.4105 D AE - a3t HE|M RAL 7021 5 M10x1 2143517715 5 13 17 13 5 12
K0338.4206 D AE - ast 43| RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
K0338.4308 D AE - a3t 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
K0338.4410 D AE - Z#st Z43|M RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 34
K0338.4412 D AEl - ast 43| RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
K0338.4516 D AE - a3t 3| RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
K0338.490384 D AE - a3t M E 3 M6x0,751431,512510 3,5 8 10 08 45 10
Z RAL 3020
K0338.400484 D AEl - PEE AEE w 4 M8x1 1838515613 4 10 13 1 6 12
Z RAL 3020
K0338.410584 D AE - Ast AE5 W 5 M10x1 2143517715 5 13 17 1,3 5 12
ZH RAL 3020
K0338.420684 D AE - Ast X 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
Z+ RAL 3020
K0338.430884 D AEl - Ast AEE W 8 M16x1,533 68 261023 8 19 24 23 15 35
Z+ RAL 3020
K0338.441084 D AEl - ast AMESE 10M20x1,533 74 281225 10 22 30 2,8 15 34
ZH RAL 3020
K0338.441284 D A&l - PEET AMSE W 12M20x1,533 78 281425 12 22 30 28 15 39
Z RAL 3020
K0338.451684 D AE - Z#st MSE w 16 M24x2 40 96 321828 16 27 36 32 20 46
Z RAL 3020
K0338.04903 D AH|QI 1.4034 PEE 3| RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 45 10
oA AE
K0338.04004 D AH|Ql 1.4034 A3t Z3|M RAL 7021 4 M8x1 1838515613 4 10 13 1 6 12
E."ﬁAEI
K0338.04105 D AE|Q! 1.4034 A3t ZH3|M RAL 7021 5 M10x1 2143517715 5 13 17 1,3 5 12
A AR
K0338.04206 D AH|Ql 1.4034 ast A3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 6 14
HA AE
K0338.04308 D Al 1.4034 25t Z35|M RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
gilA AE]
K0338.04410 D fEﬂol| 1.4034 A5t Z43|M RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 34
BlA AE
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



=ZAalLAE > b N Yo § (=) Ool—= AEIl S S
SZtAE HAYE O, a2 HERIFIRE| HEJI = AE E2
A A CllA =
AH|QI|A olHIA ERK
=EROI:
=/ =
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l B 7 7|8 = 23 30° Bty B=
S F1 F2
ok N 2N
K0338.04412 D fE“o"lg 1.4034 ast Z3|M RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
A A
K0338.04516 D AE|Ql 1.4034 A5t 3| RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
HA AE
K0338.0490384 D = 1.4034 A&t M E 3 M6x0,751431,512510 3,5 8 10 08 45 10
BlA AE Z RAL 3020
K0338.0400484 D EN= 1.4034 PEE AE 5 w 4 M8x1 1838515613 4 10 13 1 6 12
BlA AEl ZH RAL 3020
K0338.0410584 D EN=e 1.4034 A5t X 5 M10x1 2143517715 5 13 17 1,3 5 12
A AE Z+ RAL 3020
K0338.0420684 D ENZT 1.4034 A5t AESE W 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AEl Zt RAL 3020
K0338.0430884 D AH|Ql 1.4034 33t AMESE 8 M16x1,533 68 261023 8 19 24 23 15 35
A AEl Z+ RAL 3020
K0338.0441084 D EN= e 1.4034 z3t AME S wh 10M20x1,533 74 281225 10 22 30 28 15 34
BlA AEl Z RAL 3020
K0338.0441284 D AE|Ql 1.4034 A5t A S 12M20x1,533 78 281425 12 22 30 28 15 39
BlA AE Z RAL 3020
K0338.0451684 D EN= 1.4034 PEE AE 5 w 16 M24x2 40 96 321828 16 27 36 3,2 20 46
BlA AE ZH RAL 3020
K0338.14903 D AH|Ql 1.4305 HIZSF Z43|AM RAL 7021 3 M6x0,751431,512510 35 8 10 08 45 10
tA AE
K0338.14004 D ENZ 1.4305 HIZE Z43|M RAL7021 4 M8x1 1838515613 4 10 13 1 6 12
A AE
K0338.14105 D fEﬂo"|| 1.4305 H|ZE ZH3|M RAL 7021 5 M10x1 2143517715 5 13 17 1,3 5 12
BlA AEl
K0338.14206 D fEHOI_lé 1.4305 H|ZS 3| RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AE
K0338.14308 D fE“o"l| 14305 HIZSE 3|4 RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AE
K0338.14410 D |¢E+|°_II 1.4305 H|ZE 3| RAL 7021 10M20x1,533 74 281225 10 22 30 2,8 15 34
BlA AEl
K0338.14412 D léEil‘alI 1.4305 HIZF Z3|AM RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
BlA AEl
K0338.14516 D fEﬂO._IEI 1.4305 HIZE 43| RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
BlA AEl
K0338.1490384 D AE|Q 1.4305 HIZS AEE W 3 M6x0,751431,512510 35 8 10 08 45 10
BlA AEl Zt RAL 3020
K0338.1400484 D AHE|QI 1.4305 H|Z@s AME S wh 4 M8x1 1838,515613 4 10 13 1 6 12
BlA AE ZH RAL 3020
K0338.1410584 D AHE|Q 1.4305 H|ZE A5 w 5 M10x1 2143517715 5 13 17 1,3 5 12
BlA AE Z RAL 3020
K0338.1420684 D ENC 1.4305 H|ZE AEE w 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AE Z RAL 3020
K0338.1430884 D EN= 1.4305 H|ZHS AEE w 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AEl ZH RAL 3020
K0338.1441084 D EN= 1.4305 HIZE X 10M20x1,533 74 281225 10 22 30 2,8 15 34
A AEl Z+ RAL 3020
K0338.1441284 D ENZe 1.4305 HIZE AE S 12M20x1,533 78 281425 12 22 30 2,8 15 39
BlA AEl Zt RAL 3020
K0338.1451684 D PN 1.4305 H|ZES AME S w 16 M24x2 40 96 321828 16 27 36 3,2 20 46
BlA AE ZH RAL 3020
K0338.64903 D AH|Ql 14404 LIHZ 3|4 RAL 7021 3 M6x0,751431,512510 35 8 10 08 3 6,5
HA AE go|E
K0338.64004 D AE|0l 14404 LIHZ Z3|M RAL7021 4 M8x1 1838515613 4 10 13 1 7 15,5
BlA AE glolE
K0338.64105 D EN= 14404 LA EZ Z45|M RAL 7021 5 M10x1 2143,517715 5 13 17 1,3 4 12,5
oA AE! do|E
K0338.64206 D EN=e 14404 LA EZ Z3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 7 14,5
tilA AE! dlo|E
K0338.64308 D ENZe 14404 LA EZ 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
Bla AR glolE
K0338.64410 D fE“O"|| 1.4404 |E|4|;é|% 43| M RAL 7021  10M20x1,533 74 281225 10 22 30 28 15 30
A AEl o|E
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



ZaIAEl A JE, 2 L{ES} IIRE HEI Y= AR 2L

AHoI|A OISiA SR

ES 2%

z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l g7 78 = 23 30° Bty B=
S F1 F2
ok N 2N
K0338.64412 D ENETE 14404 LA E ZH3[M RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
oA AE] go|E
K0338.64516 D AH|Ql 14404 LA E Z43|M RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 40
gilA AE] go|E
K0338.6490384 D RN = 14404 LA E M E 3 M6x0,751431,512510 3,5 8 10 08 3 6,5
BlA AE #lolE Z RAL 3020
K0338.6400484 D EN= 14404 LA E AEE w 4 M8x1 1838515613 4 10 13 1 7 15,5
BlA AEl glolE ZH RAL 3020
K0338.6410584 D EN= 14404 LA E X 5 M10x1 2143517715 5 13 17 1,3 4 12,5
A AR glo|E Z RAL 3020
K0338.6420684 D AH|Ql 14404 L2 E A5 w 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
A AE glolE Z+ RAL 3020
K0338.6430884 D AH|Ql 14404 LA E AMESE 8 M16x1,533 68 261023 8 19 24 23 15 35
Bla AE tlolE ZH RAL 3020
K0338.6441084 D AE|QI 14404 LA E AMSE w 10M20x1,533 74 281225 10 22 30 28 15 30
BlA AEl #lolE Z RAL 3020
K0338.6441284 D AE|QI 1.4404 LA Z MSE w 12M20x1,533 78 281425 12 22 30 28 15 39
BlA AE #lolE Z RAL 3020
K0338.6451684 D AHQI 14404 LA E AEE w 16 M24x2 40 96 321828 16 27 36 3,2 20 40
BlA AE #lolE ZH RAL 3020
K0338.74903 D EN= 1.4404 XX 43| RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 3 6,5
oA AE! ot 2|
K0338.74004 D AH|Q! 1.4404  K}Oi% Z43|M RAL7021 4 M8x1 1838515613 4 10 13 1 7 15,5
oA AE! ot 2|
K0338.74105 D EN= 1.4404  X}oix ZH3|M RAL 7021 5 M10x1 2143517715 5 13 17 1,3 4 12,5
BlA AEl otF 2l
K0338.74206 D AH|Q! 1.4404  KpQI%] 3| RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
BlA AE ot 2|
K0338.74308 D AE|QI 1.4404  RpQI%] Z43|M RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
& AE] otF 2|
K0338.74410 D AE|QI 1.4404  K}Qi%] 3| RAL 7021 10M20x1,533 74 281225 10 22 30 2,8 15 30
tilA AE] ot 2|
K0338.74412 D EN= 1.4404  K}Qi% 3| RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
tilA AE! ot 2|
K0338.74516 D AHQ! 1.4404  Xtoix 43| RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 40
oA AE! ot 2|
K0338.7490384 D EN= 1.4404  R}Oi%] AEE W 3 M6x0,751431,512510 35 8 10 0,8 3 6,5
Bla AE oFE 2 ZH RAL 3020
K0338.7400484 D AH|Ql 1.4404  K}Oi%] AMESE 4 M8x1 1838,515613 4 10 13 1 7 15,5
BlA A oFF 2 Z RAL 3020
K0338.7410584 D AE|QI 1.4404  K}Qi%] AMESE w 5 M10x1 2143517715 5 13 17 1,3 4 12,5
Bla A oFF 2l Z RAL 3020
K0338.7420684 D EN= 1.4404  RpQI%] MSE w 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
Bla A o= 2| Z RAL 3020
K0338.7430884 D EN= 1.4404  K}Qi%] AEE w 8 M16x1,533 68 261023 8 19 24 23 15 35
gla AR ot 2l ZH RAL 3020
K0338.7441084 D EN= 1.4404  K}Oi% X 10M20x1,533 74 281225 10 22 30 2,8 15 30
Bla AE o=l ZH RAL 3020
K0338.7441284 D AHQl 1.4404  K}Oi%] AE S 12M20x1,533 78 281425 12 22 30 2,8 15 39
A A oHF 2| Z RAL 3020
K0338.7451684 D AE|Q! 1.4404  R}eix AME S w 16 M24x2 40 96 321828 16 27 36 3,2 20 40
Bla AE oFE 2l Z RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



